pul= f ! A Nhan s6 thap phan v6i 10,100,100

Tén:_ Ngaythang:_ Piém:__
8.887 x 100 = 8.708 x 10 =
1.687 x 100 = 5212 x10 =
5.825 x 10 = 6.597 x 100 =
9.762 x 100 = 9.739 x 1000 =
8.564 x 10 = 2.511 x 100 =
4.627 x 100 = 8.685 x 100 =
9.924 x 100 = 10.529 x 1000 =
6.406 x 10 = 9.435 x 100 =
6.426 x 1000 = 8.327 x 100 =
10.603 x 10 = 2.449 x 10 =
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Vo f ! A Nhan s thap phan véi 10,100,100

Tén:__ Ngaythang: _ Piém:____
8.887 x 100 = 888.7 8.708 x 10 = 87.08
1.687 x 100 = 168.7 5212 x10=52.12
5.825 x 10 = 58.25 6.597 x 100 = 659.7
9.762 x 100 = 976.2 9.739 x 1000 = 9739
8.564 x 10 = 85.64 2.511 x 100 = 251.1
4.627 x 100 = 462.7 8.685 x 100 = 868.5
9.924 x 100 = 992.4 10.529 x 1000 = 10529
6.406 x 10 = 64.06 9.435 x 100 = 943.5
6.426 x 1000 = 6426 8.327 x 100 = 832.7
10.603 x 10 = 106.03 2.449 x 10 = 24.49
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